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“SCIENCE”

01. The problem caused due to ozone hole is

(A)earthquakes

(B) damage due to UV radiations

(C)chemical pollution

(D)acid rain

02. Disposable plastic plates should not be used
because

(A) they are made of materials with light
weight

(B) they are made of toxic materials

(C) they are made of biodegradable materials

(D) they are made of non-biodegradable
materials

03. When is the world environment day
celebrated?

(A)16 June (B) 5 December

(C)5 June (D)5 July

04. A clock hung on a wall has marks instead of
numbers on its dial. On the opposite wall
there is a mirror, and the image of the clock
in the mirror if read, indicates the time as 8 :
20. What is the time in the clock :

(A)3 : 40 (B) 4 : 40

(C)5 : 20 (D)4 : 20

05. The field of view is maximum for

(A)Plane mirror (B) Concave mirror

(C)Convex mirror (D)Cylindrical mirror

“SCIENCE”

01. fuEu esa ls vkstksu fNnz ds dkj.k gksus okyh leL;k gS:

(A)HkwdEi

(B) UV fofdj.kksa ds dkj.k {kfr

(C)jklk;fud iznw"k.k

(D)vEy o"kkZ

02. fMLikstscy IykfLVd IysV dk iz;ksx ugha djuk pkfg,]
D;ksafd :

(A)os gYds otu okyh lkexzh ls cus gksrs gS

(B) os gkfudkjd inkFkksZ ls feydj cus gksrs gS

(C)os tSofuEuuhdj.k inkFkksZ ls cus gksrs gS

(D)os vtSofuEuuhdj.k inkFkksZ ls cus gksrs gS

03. fo'o i;kZoj.k fnol dc euk;k tkrk gS?

(A)16 twu (B) 5 fnlEcj

(C)5 twu (D)5 tqykbZ

04. ,d ?kM+h ,d fnokj ij Vaxh gSA blesa la[;k ds LFkku
ij fpUg gSA blds lkeus okyh nhokj ij ,d niZ.k gS]
vkSj tc ?kM+h ds le; dks niZ.k esa ns[kk tkrk gSa] rks ;g
8 : 20 gksrk gS] rks ?kM+h esa okLrfod le; D;k gS

(A)3 : 40 (B) 4 : 40

(C)5 : 20 (D)4 : 20

05. fuEu esa ls fdldk n`f"V{ks= vf/kdre gksrk gSA

(A)lery niZ.k (B) vory niZ.k

(C)mÙky niZ.k (D)csyukdkj niZ.k
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06. To an observer on the earth the stars appears
to twinkle. This can be ascribed to

(A)The fact that stars do not emit light
continuosly

(B) Frequent absorption of star light by their
own atmosphere

(C)Frequent absorption of star light by the
earth's atmosphere

(D)The refractive index fluctuations in the
earth's atmosphere

07. An object is placed at a distance of 10 cm
from a convex lens of power 5D. Find the
position of the image :

(A)- 40 cm (B) 30 cm

(C)20 cm (D)- 10 cm

08. Which of the following is present in sour milk
:

(A)Tartaric acid (B) Citric acid

(C)Acetic acid (D)Lactic acid

09. Oxidation is a process which involves

(A)addition of oxygen

(B) addition of hydrogen

(C)removal of oxygen

(D)removal of hydrogen

10. The metal which can displace copper from
CuSO4 solution :

(A)Hg (B) Au

(C)Fe (D)Ag

06. iF̀oh ij fdlh izs{kd dks rkjs f>yfeykrs izrhr gksrs gSaA
blds ckjs esa dgk tk ldrk gS fd :

(A)rkjs lrr~ izdk'k mRlftZr ugha djrs gSA

(B) rkjksa ds izdk'k dk muds okrkoj.k }kjk ckj-ckj
vo'kks"k.k gksrk gSA

(C)rkjksa ds izdk'k dk i`Foh ds okrkj.k }kjk ckj-ckj
vo'kks"k.k gksrk gSA

(D)i`Foh ds okrkoj.k ds viorZukad esa mrkj p<+ko
(Fluctuations) gksrk gSA

07. ,d oLrq 5D 'kfDr ds mÙky ySal ls 10 cm nwjh ij
j[kh gSA izfrfcEc dh fLFkfr Kkr djksA

(A)- 40 cm (B) 30 cm

(C)20 cm (D)- 10 cm

08. [kV~Vs nq/k esa fuEu esa ls D;k mifLFkr gksrk gS :

(A)VkVZfjd vEy (B) flfVªd vEy

(C),sflfVd vEy (D)ysfDVd vEy

09. v‚Dlhdj.k ,d çfØ;k gS ftlesa 'kkfey gksrk gS %

(A)vkWDlhtu dk tqM+uk

(B) gkbMªkstu dk tqM+uk

(C)vkWDlhtu dk fu"dklu

(D)gkbMªkstu dk fu"dklu

10. og /kkrq tks CuSO4 foy;u esa ls Cu dks foLFkkfir
dj ldrh gS] og gS :

(A)Hg (B) Au

(C)Fe (D)Ag
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11. Which of the following salt does not contain
water of crystallisation :
(A)Blue vitriol (B) Baking soda
(C)Washing soda (D)Gypsum

12. Which of the following metals is found in free
state :
(A)Mg (B) Ca
(C)Fe (D)Au

13. Na2CO3. 10H2O is :
(A)washing soda
(B) baking soda
(C)bleaching powder
(D)tartaric acid

14. Main function of HCl present in gastric juice
is :
(A)Digestion of starch
(B) Emulsification
(C)Conversion of pepsiogen to pepsin
(D)Digestion of lipid

15. The enzyme responsible for the digestion of
proteins in the small intestine is:
(A) Pepsin (B) Trypsin
(C) Amylase (D) Lipase

16. The extracellular fluid released from the
capillaries is:
(A)serum (B) plasma
(C) lymph (D)mucus

17. Which of the following equations is the
summary of photosynthesis?
(A)6CO2 + 12H2O  C6H12O6 + 6O2 + 6H2O
(B) 6CO2 + H2O + Sunlight  C6H12O6 + O2

+ 6H2O
(C)6CO2 + 12H2O + Chlorophyll + Sunlight

 C6H12O6 + 6O2 + 6H2O
(D)6CO2 + 12H2O + Chlorophyll + Sunlight

 C6H12O6 + 6CO2 + 6H2O

11. fuEu esa ls dkSulk yo.k esa ikuh dk fØLVyhdj.k ugh
djrk gS :

(A)uhyk FkksFkk (B) [kkus dk lksMk

(C) /kksus dk lksMk (D)ftIle

12. fuEu esa ls dkSulh /kkrq Lora= voLFkk esa ikbZ tkrh gS:
(A)Mg (B) Ca
(C)Fe (D)Au

13. Na2CO3. 10H2O gS :

(A)/kksus dk lksMk (B) /kkou lksMk

(C) fojatd pw.kZ (D)VkVZfjd vEy

14. tBj jl eas mifLFkr HCl dk eq[; dk;Z gksrk gS :

(A)LVkpZ dk ikpu

(B) ik;lhdj.k (Emulsification)

(C)isfIlukstu dk isfIlu esa :ikUrj.k

(D)fyfiM dk ikpu

15. NksVh vkar esa izksVhu ds ikpu ds fy;s dkSulk ,sUtkbZe
mÙkjkn;h gS :

(A) isIlhu (B) VªhIlhu

(C)vek,yst (D)ykbist

16. dsf'kdkvksa ls cfgdksf'kdh; L=for gksus okyk nzo gS :

(A)lhje (B) IykTek

(C)ylhdk (D)cyxe

17. izdk'k la'ys"k.k dh vfHkfØ;k gS?
(A)6CO2 + 12H2O  C6H12O6 + 6O2 + 6H2O
(B) 6CO2 + H2O + Sunlight  C6H12O6 + O2

+ 6H2O
(C)6CO2 + 12H2O + Chlorophyll + Sunlight

 C6H12O6 + 6O2 + 6H2O
(D)6CO2 + 12H2O + Chlorophyll + Sunlight

 C6H12O6 + 6CO2 + 6H2O
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18. Blood from superior vena cava flows into

(A)right atrium (B) right ventricle

(C) left atrium (D)left ventricle

19. The green colour of plants is due to the
presence of

(A)chlorophyll (B) carotene

(C)xanthophyll (D)starch

20. The internal (cellular) energy reserve in
autotrophs is :

(A)glycogen (B) protein

(C)starch (D)fatty acid

“MATHEMATICS”

21. The HCF of 95 and 152, is :

(A)57 (B) 1

(C)19 (D)38

22. If ,  are the zeros of the polynomial f(x) =

x2 + x + 1, then 
1 1


   =

(A)1 (B) –1

(C)0 (D)None of these

23. The value of k for which the system of
equation,

kx – y = 2; 6x – 2y = 3

has an unique solution, is :

(A)=3 (B) 3

(C) 0 (D)=0

18. lqihfj;j osuk dkok ls jä çokfgr gksrk gS :

(A)nkW;k vkafyUn (B) nkW;k fuy;

(C)ckW;k vkafyUn (D)ckW;k fuy;

19. ikniks dk gjk jax fdldh mifLFkfr ds dkj.k gksrk gS
:

(A)DyksjksfQy (B) dsjksfVu

(C)tSUFkksfQy (D)eaM

20. Loiks"kh esa dksf'kdh; ÅtkZ lafpr gksrh gS :

(A)XykbZdkstu (B) izksVhu

(C)eaM (D)olh; vEy

“MATHEMATICS”

21. 95 rFkk 152 dk e-l-i- gksxk :

(A)57 (B) 1

(C)19 (D)38

22. ;fn ,  cgqin f(x) = x2 + x + 1 ds pj gS] rks

1 1


   =

(A)1 (B) –1

(C)0 (D)buesa ls dksbZ ugha

23. nh x;h lehdj.k esa k dk eku gksxk ,

kx – y = 2; 6x – 2y = 3

vf}fr; gy gS :

(A)=3 (B) 3

(C) 0 (D)=0
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24. If 2x+y = 32 and 2x—y = 42, then x2 + y2 is equal
to :

(A)
41
2

(B)
19
2

(C)
17
2

(D)
29
2

25. If 8tanx = 15, then sinx – cosx is equal to :

(A)
8

17
(B)

17
7

(C)
1

17
(D)

7
17

26. cos4A – sin4A is equal to :

(A)2 cos2 A + 1 (B) 2 cos2 A – 1

(C)2 sin2 A – 1 (D)2 sin2 A + 1

27. If 2x + 3y = 13 and xy = 6, then 8x3 + 27y3

should be equal to which of the following :

(A)790 (B) 793

(C)783 (D)none of these

28. A 2–digit number has tens digit greater than
the unit's digit. If the sum of its digits is equal
to twice the difference, how many such
numbers are possible :

(A)1 (B) 2

(C)3 (D)4

29. What is the value of

1 – cos2 a – cos4 a, if sin a + sin2 a = 1 :

(A)0 (B) 1

(C)2 (D)none of these

24. ;fn 2x+y = 32 rFkk 2x—y = 42, rks x2 + y2 dk eku
gksxk :

(A)
41
2

(B)
19
2

(C)
17
2

(D)
29
2

25. ;fn 8tanx = 15, rks sinx – cosx cjkcj gksxk :

(A)
8

17
(B)

17
7

(C)
1

17
(D)

7
17

26. cos4A – sin4A fdlds cjkcj gS :

(A)2 cos2 A + 1 (B) 2 cos2 A – 1

(C)2 sin2 A – 1 (D)2 sin2 A + 1

27. ;fn 2x + 3y = 13 rFkk xy = 6, rks 8x3 + 27y3 dk
eku D;k gksxk :

(A)790 (B) 793

(C)783 (D)buesa ls dksbZ ugha

28. ,d nks vadks dh l[a;k dk ngkbZ dk vad bdkbZ ds vad
ls cM+k gSA ;fn vadks dk ;ksx] vadks ds vUrj ds nqxsus
ds cjkcj gS rks ,slh fdruh la[;k lEHko gksxh :

(A)1 (B) 2

(C)3 (D)4

29. ;fn sin a + sin2 a = 1 gS rks 1 – cos2 a – cos4 a, dk
eku gksxk :

(A)0 (B) 1

(C)2 (D)buesa ls dksbZ ugha
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30. The value of sin6  + cos6  + 3 cos2  sin2  is:

(A)1 (B) 2

(C)3 (D)6

31. If ,  are roots of the equation x2 – 5x + 6 = 0
then the equation whose roots are  + 3 and
 + 3  are :

(A)x2 –11 x + 30 = 0 (B) x2 – 11 x – 30 = 0

(C)x2 + 11 x + 30 = 0 (D)x2 + 11 x – 30 = 0

32. In the equations 3x + 2y = 13xy and 4x – 5y =
2xy. the  values of x and y that satisfy the
equations ae :

(A)(2, 3) (B) (3, 2)

(C)
1 1

,
2 3

 
   (D)

1 1
,

3 2
 
  

33. If sin  = p and cos  = q then the value of
3

3

p 2p
2q q


  is :

(A)sec  (B) cosec 
(C)cot  (D)tan 

34. Expressing 0.23 0.23  as a single decimal, we
get :

(A) 0.465 (B) 0.46

(C) 0.465 (D) 0.4654

35. If  x 2  is a factor of 2kx 2x 1  , then

the value of k is :

(A)
3
2

 (B)
2
3



(C)
3
2

(D)
2
3

30. sin6  + cos6  + 3 cos2  sin2  dk eku gksxk :

(A)1 (B) 2

(C)3 (D)6

31. ;fn x2 – 5x + 6 = 0 ds ewy ,  gS] rks fuEufyf[kr
fdl f}?kkr lehdj.k ds ewy  + 3 rFkk  + 3  gksxsa
:

(A)x2 –11 x + 30 = 0 (B) x2 – 11 x – 30 = 0

(C)x2 + 11 x + 30 = 0 (D)x2 + 11 x – 30 = 0

32. x rFkk y dk og eku tks lehdj.kksa 3x + 2y = 13xy
rFkk 4x – 5y = 2xy dks larq"V djrk gS :

(A)(2, 3) (B) (3, 2)

(C)
1 1

,
2 3

 
   (D)

1 1
,

3 2
 
  

33. ;fn sin  = p rFkk cos  = q gS rks 
3

3

p 2p
2q q


  dk eku

gksxk :

(A)sec  (B) cosec 
(C)cot  (D)tan 

34. O;atd 0.23 0.23  dks ,dy n'keyo esa n'kkZus ij

D;k eku gksxk :

(A) 0.465 (B) 0.465

(C) 0.465 (D) 0.4654

35. ;fn  x 2 , 2kx 2x 1  , k dk eku gksxk :

(A)
3
2

 (B)
2
3



(C)
3
2

(D)
2
3
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36. If x = 2 is a factor of x2 + ax + 2b and a + b =
4 then :

(A)a = 1, b = 3 (B) a = 3, b = 1

(C)a = –1, b = 5 (D)a = 5, b = –1

37. If a pair of linear equations in two variables
is consistent, then the lines represented by two
equations are :

(A)intersecting

(B) parallel

(C)always coincident

(D)intersecting or coincident

38.
tan tan

sec 1 sec 1
 


   

 is equal to :

(A)2 tan  (B) 2 sec 

(C)2 cosec  (D)2 tan  sec 

39. If we add 1 to the numerator and subtract 1
from the denominator, a fraction reduces to
1. It becomes 1/2 , if we only add 1 to
denominator. What is the fraction :

(A)
2
5

(B)
3
5

(C)
4
5

(D)
2
3

40. Degree measure of 
7
6


 is :

(A)210º (B) 240º

(C)270º (D)None

36. ;fn x = 2 bldk ,d xq.ku[k.M gks vkSj x2 + ax + 2b
rFkk a + b = 4 rks :

(A)a = 1, b = 3 (B) a = 3, b = 1

(C)a = –1, b = 5 (D)a = 5, b = –1

37. ;fn nks pjks a okys jS[kh; ;qXe lehdj.k larr~
(consistent) gS, rks bu nks lehdj.kksa }kjk izfrikfnr
js[kk,sa gksxh :

(A)izfrPNsnh

(B) lekUrj

(C)lnSo laikrh (coincident)

(D)izfrPNsnh vFkok laikrh

38.
tan tan

sec 1 sec 1
 


   

 dk eku gksxk :

(A)2 tan  (B) 2 sec 

(C)2 cosec  (D)2 tan  sec 

39. ;fn fdlh fHkUu ds va'k esa ,d tksM+k tk;s rFkk gj esa
ls ,d ?kVk;k tk;s rks fHkUu dk eku 1 gks tkrk gS ;fn
dsoy gj eas 1 tksM+k tk;s rks fHkUu dk eku 1/2 gks
tkrk gS] og fHkUUk gS :

(A)
2
5

(B)
3
5

(C)
4
5

(D)
2
3

40.
7
6


 dk fMxzh eki gksxk :

(A)210º (B) 240º

(C)270º (D)None
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“MENTAL ABILITY”

41. If in a certain code TRIPPLE is written as
SQHOOKD. How is DISPOSE written in that
code :
(A)CHRONRD (B) DSOESPI
(C)ESJTPTF (D)ESOPSID

42. Two person are sitting back to back. If the
first person face is towards north. In which
direction will be right hand of the second
person :
(A)South (B) East
(C)West (D)North

Directions : In, 43–45 questions, every question
has four items. Among these three items are
alike while one is altogether different. You
have to find out this different item and
encircle its question letter on your Answer–
sheet.

43.
(A)HDA (B) OKG
(C)XTP (D)ZVR

44.
(A)729 (B) 125
(C)27 (D)1321

45.
(A)Haryana (B) Rajasthan
(C)Pondichery (D)Bihar

46. Which number will place in "?" :

6

30

2 3

3

24

7 1

4

?

5 4
(A)32 (B) 40
(C)36 (D)20

“MENTAL ABILITY”

41. fdlh dksM Hkk"kk esa TRIPPLE dks SQHOOKD fy[kk
x;k gSa] rks mlh dksM Hkk"kk esa DISPOSE dks D;k
fy[ksaxs :
(A)CHRONRD (B) DSOESPI
(C)ESJTPTF (D)ESOPSID

42. nks O;fDr bl izdkj cSBs gS fd ,d O;fDr nwljs O;fDr
ds fiNs gSaA ;fn igys O;fDr dk psgjk mÙkj fn'kk dh
rjQ gS] rks nwljs O;fDr dk nkfguk gkFk fdl fn'kk esa
gksxk :
(A)nf{k.k (B) iwoZ
(C)if'pe (D)mÙkj

Directions : iz'u la[;k 43–45 izR;sd iz'u esa pkj fodYi
gS] ftuesa ls rhu ,d leku gS vkSj ,d rhuks ls fHkUu
gS] rks fuEu fodYi esa ls fHkUu fodYi dks igpkfu;s:

43.
(A)HDA (B) OKG
(C)XTP (D)ZVR

44.
(A)729 (B) 125
(C)27 (D)1321

45.
(A)Haryana (B) Rajasthan
(C)Pondichery (D)Bihar

46. "?" ds LFkku ij fuEu esa ls dkSulh la[;k gksxh

6

30

2 3

3

24

7 1

4

?

5 4
(A)32 (B) 40
(C)36 (D)20
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Directions : Question 47–48. Four alternatives are
given below. You have to choose correct
water image from alternatives and encircle
the alternative letter against the
corresponding question.

47.

x

(A) (B)

(C) (D)

48.
x

(A) (B)

(C) (D)

49. A is the brother of B. B is brother of C. D is
father of A. Based on these statements which
of the following is not true :
(A)B is A's brother
(B) B is D's son
(C)A and C are brothers
(D)B and A are brothers

Directions : iz'u la[;k 47—48 esa pkj fodYi gSA buesa
ls lgh fodYi dks pqfu;s tks ikuh dk izfrfcEc gS

47.

x

(A) (B)

(C) (D)

48.
x

(A) (B)

(C) (D)

49. A, B dk HkkbZ B gSA B, C dk HkkbZ gSA D, A dk firk
gS] rks fuEu dFkuksa esa ls dkSulk lR; ugh gS :

(A) A dk HkkbZ B gSA

(B) D dk iq= B gSA

(C)A rFkk C HkkbZ gSA

(D)B rFkk A HkkbZ gSA
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50. If paper is called wood, wood is called straw,
straw is called grass, grass is called rubber
and rubber is called cloth, what is the
furniture made up of?

(A)Paper (B) Wood

(C)Straw (D)Grass

50. ;fn paper dks wood dgkW tk;s vkSj wood dks
straw vkSj straw dks grass vkSj grass dks rubber
rFkk rubber dks cloth dgkW tk;s rks furniture fdldk
cuk gS :

(A)Paper (B) Wood

(C)Straw (D)Grass




